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B
LT PART-II

2 uilflwev / BIOLOGY
(&6lp wHDID Bhe il / Tamil & English Versions)

Grrid : 3 wenfl | [ Qwrgg wHUGuETSET : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150

Sifleemrset : (1) iwarsg elamssesn slurs uferd o _GTETEM T 60T LIS 6D G
sflurisgiés dardrare)b. eiFaiiudeile Gopumri9ea <ens
samarantiviurerflb 2 Langwrss Osfedsseyib.

2 Bed Sieveg smLY ewufanar L HGL TWPEIUSDGL LWeTLI(HSS
Coua(hid. UL BIGET euenFeugHELD, g 5GEMg HeusH@L Cuendla
LweTL(hS$5eLb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOy : uedH - I srareluamawyb, LGS - 11 Neordumauyb &&i &g el
eflenLgsrafled eflenLwiefsseyb.

Note : Candidate should answer Part - I (Botany) & Part - II (Zoology) in separate
answer-books.

u@dl - I (sreureflwev) / PART - I (BOTANY)
(fuQuaimger : 75) / (Marks : 75)

91fley - &y / SECTION - A

GOy : () Semensg lamEsEnEEn oo alssab. 14x1=14
(i) Qar@ésiulL premng oL saiie Wsayb ahumLw oA ulemen
- CibEs(ss EHUI_GLE el ulamanyb Geigg T (S5
Note : ()  Answer all the questions.

(i)  Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.

[ Sipis / Turn over
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craupmer NADPH, gpassapsdr egpubeig ATP 2 HuSHCwr(H
QenamESILILL S| SO :

(1) qeflgHoursbd

(<) aflld Qawe

(8) Qan&Gsrev wrGemm LmeLCUL eSS LD

() @l Qswe

Production of NADPH, is not linked with ATP generation in :
(a) Photorespiration

(b) Light reaction

(c) Hexose monophosphate pathway

(d) Dark reaction

FrTLILY Bimworereoufen =g litienufe Pr GTemLg)

(<=1) P 640 (<) P 660 (@) P 735 (FF) P 730
Based on the absorption spectra Pr is called :
(a) P 640 (b) P 660 (9 P735 (d P73

e féage eranGLmhlwy sefGuiey SeRrL il T
(1) 1942 (<=4) 1966 (&) 1950 (/F) 1970

Restriction endonucleases was discovered in :

(@) 1942 (b) 1966 ©)

1950 d) 1970



4.

Blyevrelled senawwenioey :

(=1) Q@euflenswianioay (=) rhflaeweane]
(8) Fpo <mwey () erdflenawenios
The phyllotaxy in Musa is :

(a) distichous (b) alternate

(c) spiral (d) opposite

QLSS RFEISMOHS CUTAVEGEMT EHED Apliurs Qe srepriL(b

(1) E&sMA_GLS (<) umadlGuimg.wid

(@) R(eilsSlema FTeUTS Ser(d () =A&Camre

Bicollateral vascular bundles are typically seen in :

(a) Cucurbitaceae (b) Polypodium

(0 Monocot Stem (d) Acorus

D6l gpLlq il LETHSSSTETEET sreamiLBeig! :

(1) Qzev9Awr (<) LGy

(@) Medlarev 2}, @TLOVT () preuClamam

Epipetalous stamens are seen in :
i (B ura
(a) Thespesia (6) Dat

(c) Male flower of Ricinus (d) Ravenala

[g]@gug; / Turn over



GUATEHLOWITET LITGUL. @Q)SETTE) B :

(=) Gasrearansom (<=y,) dvSatyarensiom
(§) grenensom (F) LTFeTenaLOT
Hard bast is made up of :

(@) Collenchyma (b) Sclerenchyma

(c) Aerenchyma (d) Parenchyma

&Cp Qar@ssiiulLeameugafler wCoflwr erdliiy wmbgl gl ?
(1) @uilenaen (<24,) @To ol atr (@) miteele (FF)  1qggmdendlemm
Which one of the following is an antimalarial drug ?

(@) Quinine (b) Ephedrine (c) Morphine (d) Digoxin

G etreu(peuareupmiet 4C Gefow ergl ?

(21) 2550 s flon () eumeils il
(@) ALAé ofab () RUBP

~ Which of the following is a 4C compound ?

(@) Oxaloacetic acid (b) Pyruvic acid

(c) Citric acid (d) RUBP



10.

11.

12.

5

Qﬁﬁﬁiﬁ.mLPu_lrer UamysemereLw 2 l@iaurpn  <,E@5HCurev@uid
STEUTTRIGHET &rrr'r;_'r,g, gleny :

(=) wredGaudvan (=) uredGuoraflGueen

(@) well QessCaude () prCaréven
The most primitive living angiosperms belong to the order :

(a) Malvales (b) Polemoniales

(c) Unisexuales | (d) Ranales

ouflgCoflur arGs o arLré@eag :

() erllFeng Caenair (<=3) Gpevedlen QeutiL) Gumi
(@) Apevelledr gmGrm Gpmi () PassLeme yasr Crml
Pyricularia oryzae causes :

(a) citrus canker (b) Dblast disease of rice

(c) tungro disease of rice (d) tikka disease of groundnut

BB EHEGD, OPTHSEBEEID e GuieTer Qpm_iteus samHibsau :
(=) euraGLw (<) W. Gggramransen
(@) 9flgev () Sigdd oD LTLLID

Relationship between genes and enzymes was discovered by :

(a) Waldeyer (p) W. Johannsen

(c) Bridges (d) Beadle and Tatum

[ HmpLuus / Turn over



13.

14.

GO : stemeuGuienb e ellaméa@Endé@ aflenwefléseayib.

6

eflengsatled Slietordmsens o @ILTEGuG 6Tg ?

(21) smor sdliser (=) Qeour sdliger
() Upsasrs sgliser () S sdlismer
Which induce mutation in seeds ?

(a) gamma rays (b) Alpha rays

(c) UV rays (d) B rays

Bt, Sair @A e INSQAsHEsILESADS -
(=1) e QruGLrenevev emam&CrrenCamidse
(<) <180rm urélefwib

(&) er. Camaned

() Guéldeav gifepdlwendle

Bt, gene has been isolated from :

(a) Streptomyces hygroscopicus

(b) Agrobacterium

(c) E.coli

(d) Bacillus thuringiensis

L9ifley - =,/ SECTION - B

Note : Answer any seven questions.

15.

16.

Freuy eUansLILITL g6 CHTSSEBISEET 6T(PGISH.

Write the objectives of classification of plants.

7x3=21

W -CuIAGLE sreursdler sramiL@b gCsaIb epem auems wEhshsmar

THSHEET(HLGT S(HS.

Mention any three types of inflorescence in Euphorbiaceae with example.



17.

18.

19.

20.

21.

22,

23.

24.

7

ppg eurev@Gent snepmuler LL (b QUENTBE LITGEISeET @b,

Draw and label the structure of open vascular bundle.

WLGVIe b GTEMmTed GTammen ?

What is Eustele ?

clleré @ gnflens &CrmGurGsmbler LiL b UNTHE LTESRIGMETS GlésEa,Lb.

Draw the diagram of lamp brush chromosome and label its parts.

LBl6tT SlenemUTESLd eTemmed eremen? SISET LIWLGHTEET WITeneu ?

What is meant by electroporation ? Mention its uses.

Bl @efllQersge eremmmed erebian ?

Define photolysis of water.

eafl o seilnCGamm fangey erenmmed cremenm ?

What is photooxidative damage ?

@ srarsfer sflurer Cem@ss aariédllmar siemei® QFwiousHs e
GUITILIML_ g GDET GT(LDGIS.

Write the formula for measuring the actual growth in the length of a plant.

2 udf wmBgIs6T eramre ereanar ? wCAWT LHNIDL GEBLoe GaTLBSS
2 ga|lb MHHEISS TOSHSET_HSET H(HS. |

What are biomedicines ? Give examples for antimalarial drug and the drug used to
treat cough.

[ HLiys / Tumn over
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9fey - @/ SECTION - C

@Oy : () etemeuGuenid mretnE claTésEnéE laweldse . efemT erewr
25-8@ sanTiqliLms ellenwaflsEs CeuamrHib. 4x5=20

(i) Cseeuwren GL Bisafled LILID cuenys.
Note : () Answer any four questions including question no. 25 which is compulsory.

(i) Draw diagrams wherever necessary.

25. oflo 25 sraugeilwd QU GLOL FlLsder WS 2DEEISE®ET

(55 (FCsIUD BOHGI)

Write about the salient features of ICBN. (any five).

26. Qelssmas sraur @l NGBS Campnsms LLLD cumyHE

ST LTRSS GDSSH6LD.
(=1) @evauien g Sl (LrelGal, svumengd LITFeensLON)
(<) &peD 2-mp

(@) @aos gear

Draw and label the following parts of dicot leaf :
(a) Mesophyll (Palisade, Spongy parenchyma)
(b) Bundle sheath |

(c) Stoma
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27. glein Sl LTHDSmSL] LD An @Oy euenys.

28.

29.

30.

31.

Write short notes on gene mutation

j&;@) e QU STeuisaeT SameTdEQsTaO6) erdliriLg Spe Lpi H(HESOTE
85,

Give a brief account of herbicide resistance in transgenic plants.

C; womd C, @alléCGersemnas awfls sLhsEnsdaL Cuyerar Camum@aemar
CT(LPSIS.

Write the differences between C; and C, pathway.

sreugisafle) STHD) geurdlggaier GLTE) srrueTen L &amav(d QeuefiliuBouams

with a diagram.

Prove that CO, is liberated during aerobic respiration in plants

HlassLamauder QUITEHETTSTTL! LILIGTSET FGs@ID RHHMST CTHSIS-

Write any five economic importance of groundnut.

[ Hris / Tum 0¥
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19fley - =/ SECTION - D

GOly: () eeveuCuend Brem® claméa@Ens@ edlenwefldse,d. 2x10=20

() Csemeuwmen QL Bgafle) LILLD GUDTS.
Note : (i) Answer any two questions.

(i) Draw diagrams wherever necessary.

32. Qrflamev sbweiled sreursdamen semeds Qampadr el eleufl. rGCaEID (M
el euenULLD eIeFhg etler aUTLILITL Igene 6T(Lp&Is.

Describe Ricinus communis in technical terms; Draw floral diagram and write floral
formula of any one flower.

33. SUGermub Hassailen pranG eumssaman adleul.

Describe the four kinds of phloem tissues.

34. greurs Sa euemriden LGS gCaaid LSSmer er(pals.

Write any ten applications of plant tissue culture.

35. Lepeniuréadals sile spnfludemer efeufl. (euenruLD WL [HIb)

Write an account of TCA cycle (flow chart only).




GOy = (i)
(i)
Note : (i)
)
1.

Saumelareuhamls Qurmes sflwiran ofen_ewis sre.
@)  gAuuCeamCGsror CabiQweeav (
i) wenyCsrGrermHger (
(i) Slwmiguir @e vl g eamredan Q)

(iv) eevGueilur GLreameurel (D) edlemedlaneuL_ig.6
(iii) (iv)

(i)
(=) ©
(<) (B)
(&) ©
(FF) (A)

MG clanrssEnEEh el wafldEsea b,

LGS - II (eSeomudliiey) / PART - I (ZOOLOGY)
(wHLCueamaer : 75) / (Marks : 75)
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Yfley - & / SECTION - A

16x1=16

QaEr(H&sILL L w6 aflenLgefled Wsa b ghuew efenulenan

Coib0shss GO GLer efeufemanytd Gairggl eT(pgIs.

Answer all the questions.

Choose the most suitable answer from the given four alternatives and write

the option code and the corresponding answer.

(if)

(A)

©

(D)

(B)

(D) (B)
D) (&)
(A) (B)
(D) ©

Match the following and find the correct answer :

(i) Trypanosoma gambiens (A)

(ii) Trichomonads

(iii) Giardia intestinalis

(iv) Leishmania donavani

(1)
@ ©
b (B)
© (©
@ (&)

(ii)
(A)
(©)
(D)
(B)

(iii) (iv)
(D) (B)

Diarrhoea

(B) Kala azar

(C) Sleeping sickness

(D) Gingivitis

A) alpniiCurss
B) &meom &T

grés aflwrd

[A@uues / Tum over
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Spoumeuareupmiet orgl G Apps Caudlé Hflsms wmpergL LBl SeupTan

aursHwid ?

(=) @8 AO@mpCsmba QeasErsEer mawbs Coris Hmbsmer erdli
Qareardng).

() Spemqumy 2 HusH Curenp @wHens GCrmius sHLULTHDE 6uLdl(LpenDSEmeT
urSl&ESmg).

(8) Q& Ggrrg;@g;@gg, B&& QFweh g;memmemu.n QeuafliiLBHSS @‘r_r;rrg,asaﬂasemmas
Carea)dng.

(F) @& Cpmi 2 @rLré@n Ambluler Qeudum L sH&Hng.

Which one of the following is a false statement regarding good chemotherapeutic
agent ?

(a) Itis able to penetrate the cells and can encounter the pathogens.
(b) It affects host natural defense mechanisms such as antibody production.
(c) It exhibits selective toxicity and kills pathogens.

(d) It prevents the activity of a disease causing pathogen.
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3. iﬁiﬁg:]”@éa‘fmi@ehm argfluniseiies sflwurer LOHOIL SuDTE
EMETES STl . . .
GBS0, Nbsl, sangliue e sfwrar ellaLmws

@ waflls HGamd Urs <yl samer 2 ararL S wg).

(i) @(?U'WGQLD":GET-TLEDGSGU)GT Qeseiier wrHpesHE QulLTCue Haeuid
2 arme LlFe&e Gamm SLTEE Sreusdd @Liu@emen.

(i) eflorEsafld, sHEdsd dar Hdéms wop L Leasmen NSS!

(iv) &U-Cﬂr:F ‘QSGSQJGIS.)U_IGB, 2 Qi ppesampsaiian priLfioram Si@wliLgamen
PIBg Csmarer Coeneuwirar QAgmflom Lsms apkiGaudaoama

(=1) @) seum (i) & (i) & (iv) &
(<) (@) & (i) seum (iii) & (iv) seum
(@) @ & @) & () seum  (v) seum
(F) (@) soum () soum (iii) &l (iv) seum

Find out the true and false statements from the following and on that basis find the
correct answer.

(i) Human genome analysis involves the analysis of proteins.

(ii) For transfer of whole chromosomes, metaphase cells are subjected to hypotonic
lysis.

Germ line cell gene therapy has been shown to work negatively in animals.

rmatics does not provide technique to understand the three dimensional

(iv) Bio-info
models of biomolecules.

(a) () False () True (i) True (iv) True

®) @ True () False (i) True (iv) False

(¢ () True (i) True (i) False (iv) False

(d) (@) False (i) False (i) True (iv) False

[ Hpuye / Tum Over
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ewwrevSeaflur dyredev eremLig) R

(@) sw Cpmugs®UIY vy Gopur® CBrL. prOLSEDE sHSILEG 6
SfL e Qsrenever Hr&sLIILIL TanoCuw @sn@GS STTEILD.

() s rips Crmi, apriGuma Gapurligarme gHUbalg.

(8) sw GHJ'TU‘-'§>§>®UL| S@wLUL Geapur( (S(r_r,rru'_l. CSF &r&asuuLreanwGuy
QsHGS Sryewtd

(F) &w CprugsmL s sy Gopurl @ Cpri @sn@& By FHE0G60
SISTL_0&6T HL_S5LILLTapioQu & GTLD.

Myasthenia gravis is a/an :

(a) autoimmuno disease, caused dye to non secretion of acetylcholine at
neuromuscular junction.

(b) muscle related disease, caused by hormonal disorder.
(c) autoimmune disease, caused due to non secretion of CSF.,

(d) autoimmuno disease, caused due to non conduction of impulses at neural junction.

STy&BrS QansCamflser HELors srenTlIL(heug) :

(1) Gop@ auhisramd () Ggrrs

(&) =pdr GyGsab (m) widu GrGssi
Karaknath breed of fowl is found abundant in:

(a) West Bengal (b) Gujarat

(c) Andhra Pradesh (d) Madhya Pradesh
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6. &Epeumeuameupmer ergl Guiflwibenwenwis updu sMwrer aursSun 2

(=) 88 9—“‘“6‘9@" pow Ured Gpmi. CrmisHmulsd S_mdwu o aray
whHmid Biler eperd LFeyHmg.

(=) 8sl ﬁfﬂ@““‘:\) ureyb Cpmi, oy Gemm eneurenmed 2 @ (W=00= 0 MTRTOF: AN E

(8) Qs @@ ﬁ”.f—”@l“ﬂ QsronGrmi. @g Qastselanmd LFeHng.

(7)) Qs 5“&@667 epeoow urejd Cpmi. Birsgel Qgrdp pen CauflGurer
@aureTed 2 am®H LamaniiL@Eng.

Which one of the following is correct statement regarding small pox ?

(@ It %s a food borne disease, caused by contaminated food and water.
(b) Itis a water borne disease, caused by Adeno Virus.

(c) Itis a droplet infection, spread by mosquitoes.
(d) Itis an air borne disease, caused by droplet infection of variola virus.

7.  Speumb uLsmE 2 Dns seuallss, slwrer edeneowis sam@H .
R

T
P

Qls

(=) T @ive 2 fsdalid e Qupd Werammppe WBarameaus GDEGSLD.

(=) (pA&dar) glflwus dewduriamL s Sar_Hw P e 2 Se|Lb.

(@) Q -we Qeuam &Gt GeLéseufld peoLQupubd Weamarmhpe
SHenFTHDS®SS GD&EL.

() R wpmid S simasd 2pfsder Hagudier pepLGLmID WNenamppe Hens
LIHNE®SS GSDISGLD.

Look at the picture keenly and find out the correct answer.

R

Qs

(a) Twaveis due to auricular repolarisation.

(b) P-waveisa guide to the activity of atria (auricles)

(c) Qwave represents ventricular sepal depolarisation.

(d) RandSare due to depolarisation of auricular muscle.

[ Hmuus / Turn over
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10.

16

BLogl s 2015 whmid 2017 -Bptd S amHsafie s SO QAuUiS.
2016 -1b yeiTidd GUITgLTET SeTellHE W GOMme. @ssemsw Saly

lene&(eh&Es STrenTDd
(1) FrHw WESETOGTENS LITE6D
(=) e ewsarmailw Geuliu 2 wirey
(&) Blossybi Gmpey

() @Garer @il
In 2015 and 2017, there was very heavy rain in our state. In 2016, there was no adequate

rain. These extreme conditions are due to.
(a) Uneven distribution of human population

(b) Global warming
(c) Depletion of ground water
(d) Ozone depletion

Speu(peuaTeuDMIET Seuprear BearTaniLid HeTL[His.
(<=1) emamL e Sflauls QUITHERTELD HDED

(<) DuBasLe® oo L)
(8) <iamz oo wppd Hoown -  QerCamid alluss
- Gseey Gopey

(F) STHm YOO

Which one of the following is a wrong pair ?

(a) Hydrogen - Highest mass energy

(b) Ocean energy - Tamil Nadu

(c) Nuclear power station - Chernobyl disaster
- Cheaper

(d) Wind energy

BLog o Lefled 9wy fl sroGuier @b
(=1) epeveridlen Sipuymid

(<) Cumepaneruller GerLiEd

(@) epeneruldien senaLiLIGS)

() Gumepereruden LiGgeumLiqe

The location of pituitary in our body is :

(a) Dbasal side of the brain

(b) dorsal side of the cerebrum

(c) anterior side of the brain
(d) lateral side of the cerebrum
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11.  &pad ULl (A), (B), (C) wimibd (D) GO Heuar Wreney ?

(=1) (A)
©)
(<) (A)
©)
(&) (A4)
©
(FF) (A)
©)

(B)

COOH - gpavar
@eewrngLb
SMS55F Frhidled
@emewrbL LD
@enamriblLLb
FSSE FhiSled
@eEs sridled

@mmulﬁlub

(B) seasss smifled
(D) Qeeé shide
(B) Qegs smde
(D) COOCH - (pener
(B) COOH - (penan
(D) Qegs grdlel
(B) samsss smidle
(D) COOH - (penaur

In the following diagram, what are the parts (A), (B), (C) and (D) representing ?

N

(@) (A)

® (@A)

©

(D)

COOH-end
Hinge
Heavy Chain
Hinge

Hinge
Heavy Chain
Light Chain
Hinge

(B) Heavy Chain
(D) Light Chain
(B) Light Chain
(D) COOH - end
(B) COOH-end
(D) Light Chain
(B) Heavy Chain
(D) COOH - end

[ Smuys / Turn over
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Bl 2 Ladleh 6T 2 miliL) QreRr( 2 e LjeDGserTs QeweouG DS ?
(<21) PSS (<=1) s (@) Br&G () &
Which organ in our body acts as dual receptor ?

(d) Eye

(a) Nose (b) Ear (c) Tongue

Speupeuaeunmer ovg Hésorar oaflFmes QEuQTE@GD ?

(1) 2areys sauaTsms aPrIGEDH @ Hssorar Sefmss Qswe, Qg
epeemuiles mIST 2 awriey SFILL SLHLUUGSSSDG.

() s@eaugssed Gsweame GCarwmiy BribyserrTed sLHUUBSSILGDL Qb
Slesorar aflFmss CQeumEL.

(Q) eaa)s seuasams Nl(PHIGSD @ SésHman @mﬂ&m&& Qswe, Qs
YpEeTd SLHLUGSSIADS.

(/) e18lphi &riy @ Blaeliu@ssiul L oalios ClFwemELD.

Which one of the following is the complex reflex activity ?

vity controlled by olfactory

Swallowing the food bolus is a complex reflex activi
lobe of brain.

()

Chewing is controlled by somatic nerves, which is complex reflex activity

(b)

(c) Swallowing the food bolus is a complex reflex activity controlled by medulla

oblongata.

(d) Secretion of saliva is a conditional reflex activity.
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14, SR&CUSETRESILC Beter sappy LHOID STrETRGMeTI Uigds &fwurer
cllenLenws Srewrs.
ShDl: 8BS usésar Qauliugesub, LEAEsL@ULD & T 1k (31D
Soeien L weneu.
STTERTD : Q)& R B BTl ig.ewd.
(=) &py HYD sTremd &M. STRETD Sapenn eflené@Ams,.
(<) sadm) LOOMID STTTRIGET S ATV, STFeNTD Fapenn edleTsEEHelaamna.
(&) smpm &M, srrewtid Seum).
(F) sapm &M, oyeammed, STTenTd Fahenm cllerésEeSlaena.
Read the following Assertion and Reason. Find the correct answer,

Assertion : Sindhi cows have high degree of resistance to heat and ticks.
Reason : Itis an indigenous breed.

(a) Assertion and reason are correct. Reason is explaining assertion.

(b) Assertion and reason are correct, but reason is not explaining assertion.
(c)  Assertion is true, but reason is wrong.

(d) Assertion is true, but reason is not explaining assertion.

15. &pssrapib eursSwuiisailer sfurer eurafu org) ?

(<) 6Tooldl ST, 2 L WIHPRISET Seerdgid urrbuilub < eg ereans
Fo (DI GOTITIT.

(=) Qua@ase Ywu uflanmos slgmarins Cariur® Careammsiss
piigeflgglererT.

(@) fead ey, safle@wiuBssiurL dHlw &ILD @6 Uiwu Gaors
LflerTro euemidd GQup Guierg) erens Snmle.

() Qgr’rm@ﬂuﬂeﬁr @). Qan&Gad GurenGprit Lmrelafien enwwssmHSSiSEsamen
Thn&LsTeTaTeileena.

Which one of the following statements is true ?

(a) F.B. Sumner claimed that changes in the body are heritable.

(b) Mc Dougall contributed for the development of modern synthetic theory of
evolution. |

(©) Sewal Wright claimed that isolated small population might not have evolved into
a new species. .

(d) E.Haeckel of Germany did not accept the Darwinism.

B [ Srys / Tumn over
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16. Speumeuareupdlér cDNA UpPlw sflurang gl ?
(=1) @&l tRNA -6 B&e.
(<=2b) @8 DNA -6 &HLMET 6Ulg6LD.
(@) GerGennsd) @ rrevAALCLE Aprdsemer LwaLGES cDNA ~oa
DNA -eurs wrhm @uwigii.
(F) mRNA -epw Lwemu(hids cDNA -&3 o HLSH ClFw Quigiid.
Which one of the following is true to cDNA ?
(a) Itis the copy of tRNA.
(b) Itis the imaginary form of DNA.

(c) By using reverse transcriptase enzyme cDNA can be converted into DNA.

(d) By using mRNA, cDNA can be synthesized.

Nfley - =y / SECTION - B
GOy : sremeuCuenid 61 (B odammésErs@ WL aflaLwefl&se]. 8x3=24
Note : Answer any eight questions.

17. pO@OLW S@TSEHL  gpeaarud ereteumn  Hipepdrer UL misaar

LGSsHdlamern ?

How are our eyes and brain perceiving colour pictures ?

18. smiEsed eeLw @ Crruralsg melLiflar ‘C’ wrHamysenen erdi
paranudfl LEESISE5D OSSO UibsmrssILEADE. e oibs
wmégiauT eeul Libler ‘C’ wrgdaramer Lflbgienradpmi 2

A patient with fever is prescribed by the doctor to take antibiotics along with Vitami
‘C’ tablets. Why the doctor prescribes Vitamin - ‘C’ tablets ? g with Vitamin




19.

20.

21,

22,

23.

24.
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ki maurey auarigsea ;
GD, ng . . .
LA Aéseaioreang @i‘i ? "I S@et i oeop fisayd el

convenient. Wl}iy ;echmque of animal viral culture is the most economical and

@@mrﬂm 2 Lais@ Quallfldian mpams Qeqissieisna wer, Cergaman oerd
SSGGUTIq_I_ll_I.ITas. Cur@se Caar@n. <ips oLdled aaalsorar SHE
G)S]GG)GT'QS]&.@LD Tl Geweaar Garanpradiy e, Wenant Queffailer HHE SIHS
2 LsGeT CeQissILuBSng. @shsrer sTramhismend Qs

Before injecting Penicillin drug into one's body, a testing injection must be done. If

there is no harmful response in the body, then Penicillin drug can be injected into the
body. Give reasons for it.

BT o I Qarear@End 2 amrefle e CHruLsHser Q) HaEs0MD. DHmaUSEm BLD
Cafgsd o muiiysermed sl GLUBSSUILGE e ereueumm ?

Our intake food may contain many pathogens. They are controlled by our digestive
system. How ?

LOT& (GDLIL ADWF) fHengssaler wryl Qumbluilwedler Lkidlamen 6T(psIs.

Write the role of genetic engineering in pollution abatement.

%3l o fleurer Q&S CamrensiLen GgmmyenLul BeTéHLD HbA HbA, HbA HbS
wpmitb Hb HbS < Slwaupdipdle Guwime CoummIeLOSEETS: ST,

i s
Find differences among the people with genotype HbA HbA, HbA HbS and Hb® Hb",
regarding sickle cell anaemia.

THS SO aumpadlen gL &l oHpid SigliieL e ufflauwin <iHw
o sa flmgl ? SibsS Fonaw auamrUD.

understand more about the fundamental biology and the thread

Which field helps to 1
of life ? Define that field.

[Q@UL{*’; / Turn over



25.

26.

27.

28.
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&Gy parhsefld, waenp Bir& CeaMiiume gHu@D g;mmmesmerré; GHUEHs.

Mention the benefits of rain water harvesting at coastal cities.

g GCamfl Qend Qurmerrgry wWsHwsg D uTUHSS HYD UTSSS
FHulereng ? erem ?

Which breed of fowl is economically important and preferred commercially ? Why ?

R L@HSGHIUT WAL geCamiden 2 gaflwmed) B 2 L afléd L élLbE.I'EJGSGU)GTT
saw_HApmT. erenCenanean jbstiEamer el BLd 2 L elled GesrdsSmmr ?

A doctor uses stethescope to find out various aspects of our body. What are the aspects
he/she is checking in our body ?

aBs Qram® pursEsd @Gr wrdfurs @muuddme. @Qsparer

SMTeRTRIGMETS Q&m(H).

No two men are alike. Give reasons for it.

Wifley - @/ SECTION - C

GOLY: gGgaib epeml dlamésErss W Ob o walésab. efarm erar

Note :

29.

30.

31-&@ seamgiurs aflen weflsseyib.
Answer any three questions including question no. 31 which is compulsory.

ST @ LigiFs mLmwu afibg Qaran® Ceueudd Gedaid Curg e
Sl ellusmss sHASEDTT. LOHIEPeD SiFFmLanw ojamflun Gurg e
Qe Sibs elusmss sHEAICUTGLT erar iFsid QararAmmi. Qs epeneruen
@b 2-ereflwed Cewe, Qsamen cfersEs.

A person wore a new shirt and while going out he met with a small accident. Next

time when he wears the same shirt, he develops a fear of meetin

g an accident again.
This is the psychological function of brain. Explain it.

eThg euens Gflwr wrdléeare . cums 2 1iTEQETD6) AUMSILTGLD. ST
olflermd (3.

Which type of malaria is malignant and fatal ? Explain it.

3x5=15



31.

32.

33.

GOl agGsEID @rein® eNamssEnsE LOD alenLwefll&saLo.

23
@,Drrg%seﬂasc:fr B 2 Leva dangs@h Gurg), erenQeananar Cprid senLé &ML
Slanwliygear CaravelweLbg el L ar ?

What are the immune barriers whi
ich have been failed : .
degenerates in our body. iled, when an infectious agent

wallg @Carrallh 2 &b WML SdL Qeiwniul_{Hererg. QsDemar
STTERTRIGEET cleTdHEs.

Human cloning is banned throughout the world. Explain the reasons for it.

gaQearm safl eWlflapbd g arpb Goionsg giu 5G5S
GeumUT(R&@FLET SHAIMDES) aUM(SlETDET. SISSDHW SHaIMDLIEDL Quprg
> WGfand Upssaissiul @ <ifps elGw. Gsaman Buruiu@sg!

Each individual should adapt the given environmental condition with suitable
variations. Non-adaptive individuals shall be disqualified. Justify it.

fley - m/ SECTION - D

Note : Answer any two questions.

34.

35.

Hé Qeuge s saufub. erai eLpulipfuie
HLb < H&MN&ES DS o Lpuudpdulerréd GG
menruireile B @umLd eumy LforHnSenS LD

Sarpb o Lpuud
FOUBHDLEUTE &eUTE &
I GHTGN LD &G 6T GHALEGCH
eNeT& 5.

essential. When a person does it, the respiratory rate

Daily physical exercise is very
al exercise and gaseous exchange at lungs.

increases. Explain the benefits of physic

Q@b waflgefler < @EHenL GraTugl He@ 2L gl Lawlil bHmD B
LDGTBHEPLD o GTeTLGEWG. QDS LprofAtusHE B o L el g ammiGLomen
sréslLGADS. G5 anriGurafler Ltiflapan eleTEES

Personality of a person includes physical and mental well being. To maintain this one
hormone is secreted in our body. Explain roles of the hormone.

[ Sl@Liys / Tum over

2x10=20
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37.
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S@rLD LWeTLESSLIUED Gaflt sreans Quiy. LHmID Gafli FrEebigeT
eramanilEans i s LILgSaTe gL SHMLILD GWe edaare semar allatéEs.
Increase in number of refrigerators and air conditioners usage causes environmental
effects. Explain.

B 2 @M euemiliy - auenywmy, e euariiiy eremugl U Breump o uflflser
euemTLiLy weopsafld gemm. 5, @ Wer LaTaamaws Sleusdleamme, igemar
ereueumm eomud (g Gamifleors o (Heumrs@eum ?

Define aquaculture. Pisciculture is one among the many aquatic organisms cultures. If
you start a fish farm, how will you make it a productive venture ?

-00o0-



